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The average age of 14 girls and their teacher's age 

is 15 years. If the teacher's age is excluded, the 
average reduces by 1. What is the teacher's age?

14 लड़किय ों और उनिे किक्षि िी उम्र िी औसत उम्र 15 

साल है। यकि किक्षि िी उम्र ि बाहर रखा गया है, त 
औसत 1 से िम ह जाता है। किक्षि िी उम्र क्या है?

A. 35 years

B. 32 years

C. 30 years

D. 29 years

1
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5 years ago, the average age of P and Q was 15 years. 

Average age of P, Q and R today is 20 years, How old will 
R be after 10 years?

5 साल पहले, P और Q िी औसत उम्र 15 साल थी। P, Q

और R िी औसत आयु आज 20 वर्ष है, 10 वर्ों िे बाि R 
िी आयु कितनी ह गी?

(1) 35 years

(2) 40 years

(3) 30 years

(4) 50 years

2
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The average age of a husband and his wife was 23 years at the 

time of their marriage. After  five years they have a one-year old 

child. The average age of the family of three, when the child was 
born, was –

एि पकत और उसिी पत्नी िी औसत उम्र उनिी िािी िे समय में 23 साल

थी. पाोंच साल िे बाि वे एि साल िा बच्चा है. तीन िे पररवार िी औसत उम्र, 

जब बचे्च िा जन्म हुआ था?

(1) 23 years

(2) 24 years

(3) 18 years

(4) 20 years

3
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(1) 45 years

(2) 55 years

(3) 59 years

(4) 49 years

4
The average age of 45 persons is decreased by 1/9 

years when one of them of 60 years is replaced by a 

new comer. Then the age of the new comer is :

45 व्यक्तिय ों िी औसत आयु में 1/9 वर्ष िी िमी आ जाती है

जब उनमें से 60 वर्ष िे एि नए आने वाले द्वारा प्रकतथाथाकपत
किया जाता है। त नए िी उम्र है:
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(1) 450

(2) 150

(3) 250

(4) 350

5
In a school with 600 students the average age of the boys is 12 

years and that of the girls is 11 years. If the average age of the 

school is 11 years and 9 months, then the number of girls in the 
school is ?

600 छात् ों िे एि कवद्यालय में लड़ि ों िी औसत उम्र 12 साल है और

लड़किय ों िी 11 साल है. यकि सू्कल िी औसत आयु 11 वर्ष और 9 महीने है, त 
सू्कल में लड़किय ों िी सोंख्या है ?
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The average age of a cricket team of 11 players is the same as it was 

3 years back because 3 of the players whose current average age of 

33 years where replaced by 3 youngsters. The average age of the 

new corners is –

11 क्तखलाकड़य ों िे कििेट टीम िी औसत आयु वही है ज 3 साल पहले थी क्य ोंकि

पहले िे 3 क्तखलाकड़य ों िी वतषमान औसत आयु 33 वर्ष है ज 3 युवाओों िी जगह
है उनिी औसत उम्र है -?

(1) 23 years

(2) 21 years

(3) 22 years

(4) 20 years 

6
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The average salary of all staff of a school is Rs. 10000. The 

average salary of 20 teaching staff is Rs. 12000 and that of non-

teaching staff is Rs. 5000, the number of non-teaching staff will 

be-

किसी कवद्यालय िे सभी िमषचाररय ों िा औसत वेतन 10000 रुपये है। 20 

किक्षण िमषचाररय ों िा औसत वेतन 12000 रुपये है और गैर-किक्षण स्टाफ
िा वेतन 5000 रुपये है, गैर-किक्षण िमषचाररय ों िी सोंख्या ह गी?

(1) 7

(2) 8

(3) 10

(4) 12

7
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5 members of a team are weighed consecutively and their  average 

weight calculated after each member is weighted. If the average weight 

increases by one kg each time, how much heavier is the last player 
than the first one?

एि टीम िे 5 सिस् ों ि लगातार तौला जाता है और प्रते्यि सिस् िे भाररत ह ने

िे बाि उनिे औसत वजन िी गणना िी जाती है। यकि औसत वजन हर बार एि
किल बढ़ जाता है, त पहले से अोंत वाला क्तखलाड़ी कितना भारी है?

(1) 4 kg

(2) 20 kg

(3) 8 kg

(4) 5 kg
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In a 729 litres mixture of milk and water, the ratio of milk to water 

is 7 : 2. To get a new mixture containing milk and water in the ratio 

7 : 3, the amount of water to be added is

729 लीटर िूध और पानी िे कमश्रण में, पानी और िूध िा अनुपात 7 : 2 है। 7: 

3 िे अनुपात में िूध और पानी युि एि नया कमश्रण प्राप्त िरने िे कलए, पानी
िी मात्ा कितनी बढ़नी चाकहए है

(1) 81 litres

(2) 71 litres

(3) 56 litres

(4) 50 litres

9
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In 40 litres mixture of milk and water the ratio of milk to water is 7 : 

1. In order to make the ratio of milk and water 3:1, the quantity of 

water (in litres) that should be added to the mixture will be

40 लीटर िूध और पानी िे कमश्रण में िूध से पानी िा अनुपात 7: 1 है। िूध और

पानी िा अनुपात 3:1 बनाने िे कलए ,पानी िी मात्ा (लीटर में) ज कमश्रण में
कमलाई जानी चाकहए, क्या ह गी ?

(1) 6

(2) 6 (1/2)

(3) 6 (2/3)

(4) 6 (3/4)

1

0
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A mixture contains wine and water in the ratio 3 : 2 and another 

mixutre contains them in the ratio 4:5. How many litres of the later 

must be mixed with 3 litres of the former so that the resulting 

mixture may contain equal quantities of wine and water ?

कमश्रण में वाइन और पानी िे अनुपात 3 : 2 और एि अन्य कमश्रण में वे अनुपात

4:5 में हैं। बाि में कितने लीटर ि 3 लीटर पूवष िे साथ कमलाया जाना चाकहए
ताकि पररणामी कमश्रण में समान मात्ा में वाइन और पानी ह जाये ?

(1) 5 (2/5)

(2) 5(2/3)

(3) 4(1/2)

(4) 3(3/4)

1

1
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The ratio of spirit and water in two mixtures of 20 litre and 36 litre is 

3 : 7 and 7 : 5 respectively. Both the mixtures are mixed. together. 
Now the ratio of the spirit and water in the new mixture ?
20 लीटर और 36 लीटर िे ि कमश्रण मे क्तिररट और पानी िा अनुपात िमिः 3 : 7 और 7 : 5 है। ि न ों कमश्रण कमकश्रत

िरे जाते हैं.अब नए कमश्रण क्तिररट और पानी िा अनुपात ?

(1) 25 : 29

(2) 9 : 10

(3) 27 : 29

(4) 27 : 31

1

2
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A Can contains a mixture of two liquids A and B in 

the ratio 7:5. When 9 litre of mixture are drained off 

and the Can is filled with B, the ratio of A and B 

becomes 7:9. How many liters of liquid A was 

contained by the Can initially?

एि िैन में ि द्रव Aऔर B िा कमश्रण अनुपात 7:5 में है। जब 9 

लीटर कमश्रण कनिाल कलया जाता है और िैन ि द्रव B से भरा

जाता है, त A और B िा अनुपात 7:9 ह जाता है। िुरू में िैन
मे कितने लीटर तरल A ि समाकहत था? (1) 10 

litres 

(2) 20 

litres

(3) 21 

litres 

1

3
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A and B have monthly incomes the ratio 5 : 6 and monthly 

expenditures in the ratio 3 : 4. If they save Rs. 1800 and ? 1600 

respectively, find the monthly income of B :

A और B िी माकसि आय अनुपात 5 : 6 तथा माकसि व्यय अनुपात 3 : 4 में

हैं। यकि वे 1800  और 1600, रुपये बचाते हैं िमिः B िी माकसि आय ज्ञात
िरे ?

(1) Rs. 3400

(2) Rs. 2700

(3) Rs. 1720

(4) Rs. 7200

1

4
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The income of A, B and C are in the ratio 7:9: 12 and their 

spending are in ,the ratio 8:9: 15. If A saves 1/4th of his income, 

then the savings of A, B and C are in the ratio of:

A ,B और C िी आय अनुपात में हैं 7:9: 12 और उनिे खचष िे अनुपात 8:9: 

15. यकि A अपनी आय िा 1/4वाों बचत िरता है, त A, B और C िी बचत िे
अनुपात क्या हैं:

(1) 56 : 99 : 69 

(2) 69 : 56 : 99 

(3) 99 : 56 : 69 

(4) 99 : 69 : 56

1

5
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Rs. 180 contained in a box consists of one rupee, 50 pais and 

25 paise cons in the ratio 2 : 3 : 4. What is the number of 50 

paise cons?

एि बॉक्स में रखे 180 रुपये में एि रुपया, 50 पैसे और 25 पैसे िे कसक्क 
िा अनुपात 2 : 3 : 4 है। 50 पैसे िी सोंख्या क्या है?

(1) 60

(2) 120

(3) 150

(4) 180

1

6
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Rs. 900 is divided among A, B, C the division is such that ½ of A's 

money = 1/3 of B's money = ¼ of C's money. Find the amount (in  

Rs.) received by A, B, C.

Rs. 900 A, B, C िे बीच कवभाकजत है, कवभाजन ऐसा है कि A िे पैसे िा 1/2 = 

1/3 B िे पैसे िा =1/4 C िे पैसे िा। A,B,C द्वारा प्राप्त राकि (रु. में) िा पता
लगाएों ।

(1) 300, 400, 200

(2) 350, 450, 100

(3) 200, 300, 400

(4) 400, 150, 350

1

7
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A policeman starts to chase a thief. When the thief goes 10 

steps the policeman moves 8 steps. 5 steps of the policeman is 

equal to 7 ste of theif . The ratio of the speeds of the policeman 
and the thief is
एि पुकलसिमी एि च र िा पीछा िरने िे कलए िुरू ह ता है। जब च र 10 ििमचलता है पुकलसिमी 8 ििम

चलता है. पुकलसिमी िे 5 ििम उस िे 7  िे बराबर है . पुकलसिमी और च र िी गकत िा अनुपात है

(1) 25 : 28

(2) 25 : 26

(3) 28 : 25

(4) 56 : 25

1

8
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6 litres of milk and water mixture has 75% milk 

in it. How much milk should be added to the 

mixture to make it 90% pure?

6 लीटर िूध और पानी िे कमश्रण में 75% िूध है।

कितना िूध कमलना चाकहए ताकि 90% ह जाए िूध ?

(1) 10 litres

(2) 8 litres

(3) 9 litres

(4) 12 litres

1

9
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The fourth proportional to 0.12, 

0.21, 8 is :

चतुथष समान अनुपात -
(1) 8.9

(2) 56

(3) 14

(4) 17

2

1
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2
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94 is divided into two parts in such a 

way that the fifth part of the first and the 

eighth part of the second are in the ratio 

3 : 4. the first part is-
94 ि ि भाग ों में इस प्रिार कवभाकजत किया गया है कि पहले िे पाोंचवें

भाग और िूसरे िे आठवें भाग िे अनुपात 3: 4 में हैं। पहला भाग है-

(1) 30

(2) 36

(3) 40

(4) 28

Question of the 

day
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(a) 125

(b) 135

(c) 500

(d) 250

If 50 people less would have applied and 25 people less 

selected, then the ratio of selected and unselected would have 

been 13:4, while earlier this ratio was 2:1. Find the total number 
of people earlier?

यकि 50 से िम ल ग ों ने आवेिन किया ह ता और 25 ल ग िम चयकनत ह ते, त 

चयकनत और अचयकनत िा अनुपात 13: 4 ह ता, जबकि पहले यह अनुपात 2: 1 

था। पहले ल ग ोंिी िुल सोंख्या ज्ञात िीकजये?



https://t.me/MathbySuryaveersir


